RECEIVED KANSAS CORPORATION COMMISSION

JUN 0 9 2006

CONSERVATION DIVISION WICHITA, KS

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL September 1999
Form Must Be Typed

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 6743	API No. 15 - 097-21585-00-00
Name: Southwind Petroleum Corp.	County: Kiowa
Address: 1400 W. 14th	App. C NE/4 Sec. 35 Twp. 27 S. R. 18 East West
City/State/Zip: Wichita, KS 67203	1150 feet from S / (N) (circle one) Line of Section
Purchaser: Oneok and SemCrude	1320 feet from (E) / W (circle one) Line of Section
Operator Contact Person: Willis Nigh	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 267-3741	(circle one) SE NW SW
Contractor: Name: Fossil Drilling, Inc.	Lease Name: Taylor Well #: 1
License: 33610	Field Name: Greensburg
Wellsite Geologist: Willis D. Nigh	Producing Formation: Kinderhook Sand
Designate Type of Completion:	Elevation: Ground: 2171 Kelly Bushing: 2180
X New Well Re-Entry Workover	Total Depth: 4817 Plug Back Total Depth: 4793
X Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 365 Feet
X Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	Drilling Fluid Management Plan
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volume 240 bbls
Plug BackPlug Back Total Depth	Dewatering method used hauled
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	
Other (SWD or Enhr.?) Docket No	Operator Name: Roberts Resources
2-13-06 2-23-06 4-7-06	Lease Name: Mary SWD License No.: 32781
Spud Date or Recompletion Date Date Reached TD Recompletion Date Completion Date or Recompletion Date	Quarter Sec. <u>16</u> Twp. <u>29</u> S. R. <u>18</u> East X West County: <u>Kiowa</u> Docket No.: <u>D-28, 396</u>
Kansas 67202, within 120 days of the spud date, recompletion, workov information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells	In the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-3 and geologist well report shall be attached with this form. ALL CEMENTING 8. Submit CP-111 form with all temporarily abandoned wells.
herein are complete and correct to the best of my knowledge.	
Signature: ////////	KCC Office Use ONLY
Title: President Date: 6-8-06	Letter of Confidentiality Received
Subscribed and sworn to before me this & day of	If Denied, Yes Date:
20	Wireline Log Received
Charles Seil	Geologist Report Received
Notary Public: 2 - 19 - 2019 K	AREN F. SEVICK VIC Distribution
Date Commission Expires: 2-19-200 My Appt. E	tary Public - State of Kansas
Wy Apper	

perator Name:9	Southwind 7 _{S. R.} 18			orp _{eas} Coun	•	Taylor .owa		Well #: _1			
NSTRUCTIONS: Shested, time tool open emperature, fluid reco lectric Wireline Logs	ow important tops a and closed, flowing overy, and flow rates	nd base of and shuts if gas to	f formations p in pressures, surface test, a	enetrated whether salong with	. Detail all shut-in pre	ssure reached s	tatic level, hydros	static pressur	es, botto	m hole	
rill Stem Tests Taken		X Ye	s 🗌 No		X Lo	og Formatio	n (Top), Depth ar	nd Datum		Sample	
amples Sent to Geo	,	Ye	s X No		Name	e		Тор		Datum	
ores Taken	logical Survey				i	rington		388	-20		
ectric Log Run		∐ Ye X Ye				ard		189	-13		
(Submit Copy)		<u> </u>	J [110			bner wn Lime		980 127	-18 -19		
t All E. Logs Run:					1	sing		140	-19		
•	/ BI +				B/K	_		531	-23		
mp. Densi al Inducti	ty/Neutron	<u>[</u>			1	rokee Sh		560	-24		
cro Log	1011				1	sissippi		704	-25		
ment Bond	Log				Kin	derhook	Sand 47	758	-25	78	
**************************************		Repor		RECORD	· · · · · · · ·	w Used rmediate, production	on, etc.		· · · · · · · · · · · · · · · · · · ·		
Purpose of String	Size Hole Drilled		Casing		eight	Setting	Type of Cement	# Sacks Used		and Percent	
Surface			Set (In O.D.) 5/8		s. / Ft.	Depth 365	60/40 POZ	275	 	Gel	
Production	7 7/8	4 1/2		10.	5	4816	AA2	350		al CC FLA32	
			ADDITIONAL	. CEMENT	TING / SQU	EEZE RECORD					
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Туре	of Cement	#Sack	ks Used		Type and Pe	ercent Additives	5		
Shots Per Foot			D - Bridge Plu ach Interval Pe		e	Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Dept					
4	4759-63		Frac-16,) Gal. 7 . 500 Gal. 20/40 sa	25# 0		d. 4763				
UBING RECORD	Size	Set At		Packer	At	Liner Run					
	2 3/8	4471		0			Yes X No				
ate of First, Resumerd $5-4-0.6$	Production, SWD or E	nhr.	Producing Met		K Flowing	Pumping	g Gas Lift	Oth	er (Explain)	
stimated Production	Oil	Bbls.	Gas	Mcf	Wate	r Bbl	ls. Ga	as-Oil Ratio		Gravity	
Per 24 Hours	7		160		58			857:1		34	
sposition of Gas	METHOD OF C	OMPLETIO	N			Production Intervi	al				
Vented XSold (If vented, Sub	Used on Lease		Open Hole	X Pe	rt. 🔲 D	ually Comp. [Commingled				



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. PO. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice Bill to: 8045500 Invoice Invoice Date Order Order Date 602100 2/16/06 12457 Southwind Petroleum Corp. 2/13/06 Service Description 1400 W. 14th St. Cement Wichita, KS 67203 Lease Well Well Type Taylor -New Well Purchase Order Terms Net 30 CustomerRep Treater K. Gordley ID. Description **UOM** Quantity Unit Price **Price** D203 60/40 POZ (COMMON) SK 275 \$9.82 \$2,700.50 (T) **CALCIUM CHLORIDE LBS** 711 \$1.00 \$711.00 (T) **CELLFLAKE** LB[°] 67 \$3.41 \$228.47 (T)

C310 C194 F163 **WOODEN CEMENT PLUG, 8 5/8"** EA 1 \$88.90 \$88.90 (T) E100 HEAVY VEHICLE MILEAGE - 1 WAY MI 50 \$4.00 \$200.00 E101 CAR, PICKUP OR VAN MILEAGE - I WAY MI 25 . \$2.50 \$62.50 PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN E104 TM 296 \$1.60 \$473.60 E107 CEMENT SERVICE CHARGE SK 275 \$1.50 \$412.50 R201 CASING CEMENT PUMPER, 301-500' 1ST 4 HRS ON LOC. EA 1 \$704.00 \$704.00 R701 CEMENT HEAD RENTAL EA 1 \$250.00 \$250.00 S100 **FUEL SURCHARGE** ŀ \$58.32 \$58.32

Com Drilling

Sub Total: \$5,889.79

Discount: \$1,165.97

Discount Sub Total:

\$4,723.82

Kiowa County & State Tax Rate: 6.30%

Taxes: \$188.41

(T) Taxable Item

Total:

\$4,912.23

RECEIVED
KANSAS CORPORATION COMMISSION

CONSERVATION DIVISION WICHITA, KS

J. 134.

pf 3 70 70 Ch 2245

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182

54/-CONTERVIEW BUTP-Z/2N-1E-3/4N

, C'			•					
	Ĭ	٠	INVOICE NO.				LD ORDER	10457
			Date 7-12-0	Lease	ct to Correction	Well#	/ Legal	35=27-2
SER	VICES.		2-/3-0 Customer ID	County	COIC TO	State	Station	
South	7/12	Δ	an	Depth Depth	DUCUYT Formation	· /	Shoe Joint	AN, KS
H	WHA)	121.	COKP.	Casing	Casing Depth	, TD_	Job Type	·
R				Customer Repre	365	<u> </u>) SUR	GACE-N
Ē				- Januario Repre	ooman yo		sater GORSU	84
AFE Number		PO Nui	mher	Materials			_	
Product		1		Received by	<u>X</u>	ung).	3/2_	
Code	QUANTITY	MATE	RIAL, EQUIPMENT a	nd SERVICES USED	UNIT PRICE	AMOUNT	CORRECTION	COUNTING
1720	21354	121	40 10	2	<u> </u>			
C310	1-7 11	CAR	CDUM	CHOPING	-			
174	6/10.	CEL	MAK	<u>~</u>	<u> </u>	<u> </u>		
F163	1BH.	73	18 10001) pulas.				
13/00	20 mile	per	CIC MOL	<u> </u>				
51016	201 20	PDC	fur mi	2/12/1				
5107	296 m	BULL	KDBL.	DIENEY				
1201	1174	CIM	BELV.	CHARCIE				
2701	189	1000	MINOUT A	4341				
(2,0)	1811	CE	MBNJ /	BITT			<u> </u>	
								<u> </u>
 								
							 	
						· · · · · · · · · · · · · · · · · · ·	 	
	-		- 					
								
						KANSAS CORD	CEIVED	
						IVNIONS CORP	ORATION COMMISSION	
						JUN	9 2006	
			······································			CONSERV	ATION DIVISION	
							HITA, KS	
								100
								
			11	1				
			PERCE	=		1665,50		
J244 NE Hiw	ay 61 · P.O. B	ox 8613 ·	Pratt, KS 67124-	8613 · Phone (620)	672-1201 - Fax	((620) 672-5383	TOTAL	



TREATMENT REPORT

Speill hil SW						Lease No.						Date					
Lease	LOR	A		F	Wel	1# /	,					1	Z	2-1	3-0	76	,
Fjeld Order	#7 St	ation	DRA	701	K	•		Casing	98	Dept	765	Count	y K	Dir	SA	State	KS
Type Job	Sur	DEN	Acr	<u>5</u>	NI	W				Formation		ــــــــــــــــــــــــــــــــــــــ		Legal D	escription	3 0 -	27-1
PIP	E DATA		PERF	ORAT	ING D	ATA		FLUI	D US	ED			TREAT	MENT	RESUM		
Casing Size	Tubin	g Size	Shots/F	t		Acid						PRES	SS	ISIP			
Depth	Depth	1 .	From		То		Pre	Pad		Max		,		•	5 Min.		
Volume	Volum	ne	From		To		Pad				Min			· · ·	10 Min.		
Max Press	Max F	ress	From		То		Frac	C			Avg				15 Min.		
Well Connect	ion Annul	us Vol.	From		То						HHP Use	ed			Annulus	Pressur	e
Plug Depth	Packe	r Depth	From		То		Flus	sh	1		Gas Volu	ime		α	Total Loa	ad	
Customer Re	presentati	ve S	Col	1		Station	Mana	ager	11/	272	7	Trea	ater <i>C</i>	TE	12/02	2	
Service Units	128	22	28	38	/ 🕹	7/											
Driver Names	166	K	See Desch	7	4	M	1										
Time	Casing Pressu	re P	Fubing ressure	Bbls	. Pumpe	ed	ا	Rate					Servic	e Log			
0430	·									OK	10	CN	771	מתעם	ノ		
	ļ													-1			
										UIR	/ 30	级 <u></u>	8	3/8	<u> CS</u>	3	•
				٠.		-	٠			11-		,					
- C/- >	ļ				- 1				4	11/1_	5 X	(di	M	BN	7	_	
<u>0800</u>	20	بات		4	2/	/ 				275 SK 60/40 POZ							
						_			- 4	2%6	<u> </u>	3%	00	· //	4#1	खा	FIALL
									+		/	7) =		112	- /	, ,	
						+			\dashv	510	7-	RE	les	48E	M	16	
-	0				0	+					1105		2	· p	,e- 		
					<u>U</u>			5	+	517	asc of	_[i]	25		<u>-</u>		
0830	Zu				23	<u> </u>		<u> </u>	rî.	DI	11/	1	ou) n	/		
					<u> </u>			<u> </u>	-		n CI		<u>wa</u>	<u> </u>			•
						_											
	·	<u> </u>			F	ÆÇE	IVE	D		Cook	C.25	551	1 12	ME	W 17	2	7517
				KANS		- 1		COMMISE	SIGN C		<u> </u>	<u>عرب د</u>	· CC	y • • • • •	<u> </u>	<u> </u>	
-					Jt	1N 0	9 20	JU6	\top			· · · · · · · · · · · · · · · · · · ·					
					CONSE												
						WICHIT	A, NO				2 0		Δ				
5900	,								K	101	3 le	WIFE	(8)	2			
													1/1	My	US -	pres	VSW
4004	A NIC L		0.4		0.0	10	-	11 1/0		04 00	A /AA	0 \ O = 0			(000)	679 6	





SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd.

P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

Bill		voice In	Order 12249	Order Date 2/23/06				
	Southwhite retroleum Corp.	2103	2/27/06 Service D	escription	2/23/06			
	1400 W. 14th St.			nent				
	Wichita, KS 67203	Leas		Wel	Well Typ			
:		Taylor E		1	New We			
		AFE		Purchase				
					Net 30			
	CustomerRep		Tre	ater				
	B. Moorehead		В. Г)rake				
<u>ID.</u>	Description Yrd. Pro	<u>UOM</u>	Quantity	Unit Price	<u>Price</u>			
D205	AA2 (COMMON)	SK	350	\$15.37	\$5,379.50			
C195	FLA-322	LE	3 99	\$7.50	\$742.50 (
C221	SALT (Fine)	GAL	1794	\$0.25	\$448.50 (7			
C243	DEFOAMER	LB	66	\$3.45	\$227.70 (7			
C312	GAS BLOCK	LB	3 ' 247	\$5.15	\$1,272.05 (7			
C321	GILSONITE	LB	1750	\$0.60	\$1,050.00 (7			
C141	CC-1, KCL SUBSTITUTE	GAL	10	\$44.00	\$440.00 (7			
C303	SUPER FLUSH	GAL	500	\$2.45	\$1,225.00 (7			
F100	TURBOLIZER, 4 1/2"	EA	15	\$67.00	\$1,005.00 (7			
F120	BASKET, 4 1/2"	EA	2 .	\$220.00	\$440.00 (7			
F170	LATCH DOWN PLUG & BAFFLE, 4 1/2"	EA	. 1	\$230.00	\$230.00 (7			
F210	AUTO FILL FLOAT SHOE, 4 1/2"	EA	. 1	\$269.00	\$269.00 (1			
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	50	\$4.00	\$200.00			
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	25	\$2.50	\$62.50			
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 N	IIN TM	411	\$1.60	\$657.60			
E1 07	CEMENT SERVICE CHARGE	SK	350	\$1.50	\$525.00			
R210	CASING CEMENT PUMPER, 4501-5000' 1ST 4 HRS ON LO	OC EA	1	\$1,827.00	\$1,827.00			
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00			
\$100	FUEL SURCHARGE		1	\$158.45	\$158.45			

KANSAS CORPORATION COMMISSION JUN 0 9 2006 JUN 0 9 2006

Sub Total: Discount:

\$16,409.80 \$3,574.99

Discount Sub Total: Kiowa County & State Tax Rate: 6.30%

\$12,834.81

CONSERVATION DIVISION WICHITA, KS

Taxes:

\$627.23

(T) Taxable Item

Total:

\$13,462.04

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182

			INVOICE NO.		ect to Correction		FIEL	ORDER	1224
			2-23-06	Lease Taylor	E STATES		Well #	Legal 33	-2778
SER	VICES.	ГC	Customer ID	County	wa		State Ks	Station	a#
South	wind let	roleus	Cons	Depth	Formation	1	7(3)	Shoe Joint	
- - 2 		WIGH	Lorps	Casing 41/z	Casing Depth	Ī	D	Job Type	<u>'</u>
		 _		Customer Repr	#8/6 esentative		4817 Treate	492615.	New We
			· · · · · · · · · · · · · · · · · · ·	Bob	Morrehad			Bobby Diak	<u> </u>
VFE Number		PO Nur	mber	Materials Received by	x Robe	J 9	Moore	head	
Product Code	QUANTITY	MATE	RIAL. EQUIPMENT a	nd SERVICES USED	UNIT PRICE		OUNT	AC CORRECTION	COUNTING
1)205	3505K.	AA2			-		00/11	CORRECTION	AMOUN
									
195	9916.	FLA-	322						
22/	1794 16.	Salt (+	(ine)		+				
243	6615.	Detoa	mer		<u> </u>				
3/2	24716.	Gas B			+				
32/	175016,	Gilson	ite		+				
2/4/	10 gal	11-1	*		+				
303	500 gal	Suger			4	<u> </u>			
100	15eu.		lizer 41/2		+			· · · · · · · · · · · · · · · · · · ·	÷
120	2ea.	Basket		1	<u>+</u>			 	
170	lea.	I.R. La	tch Down P	lug thatthe 4	4 —				
210	lea.	Huto A	11 Plact Sho	ne, 4//2					ļ
	(2)	1/	111	1.1					
100	50m).	_ /	Wehicle M	Veage	1				
101	25 ml	<i>a 1</i>	Mileage						
107	411 tm. 350 s.K.		elivery	·/					
210	1032	<u>Leineal</u>	+ Service Ci	narge				···	<u> </u>
701	lea.	Course was	+ Pump, 43	1-3000					
7.			THERE NEW	<i>// 01</i>					
	. 1								
							KANS	AS CORPORATION (
			Discounted	Price	12.676.36			JUN () 9 20	DC
									i
								CONSERVATION DIV WICHITA KS	SION
								TATALIA, N.S.	
l	İ								



TREATMENT REPORT

Customer	thwind	Patrale	×	Lease No.						Date				
Lease	lor F	<u> 18110/6</u>	<u> </u>	Well #					2-23-06					
Field Order #	Station	Prat	#	L		Casing 4//z	Depti	4/8/6	County		'lowa		State K 5.	
Type Job 4	1/2 1.5.		Well	/			ormation				Legal De	escription	19a	
PIPE	E DATA	PER	FORATII	NG DATA		FLUID USE	:D		-	TREA	TMENT	RESUME	35-27-181	
Casing Size/2	Tubing Si	ze Shots/F	=t	Cmt.	Acid	30 sks. 1	4A2		RATE	PRE	SS	ISIP		
Depth 4816	Depth	From	7	Го	Pre Pa	ad 1. 43 fr	13	Max				5 Min.		
Volume #8.	Volume	From		Го	Pad			Min				10 Min.		
Max Press	Max Pres	s From		Го	Frac			Avg				15 Min.	· · · · · · · · · · · · · · · · · · ·	
Well Connection	on Annulus \	/ol. From		Го				HHP Use	ed			Annulus F	Pressure	
Plug Depth	Packer D	From		Го	Flush	77841.29	6 XCL	Gas Volu				Total Load	d	
Customer Rep	oresentative	do Moor	ehead	Station	Manag	er Dave S	att	<u>,</u>	Trea	ater 8	obby	Drake		
Service Units	123	226	17/) < -	72								·		
Driver Names	Drake	Authory	Me bio	w _										
Time	Casing Pressure	Tubing / Pressure	Bbls.	Pumped	Ra	ate					rice Log		· · · · · · · · · · · · · · · · · · ·	
12:00 P.M.							n loc	ation	- 5a	fety	Mee	Hing_		
1:45							<u>un ls</u> g	<u>, - /2/,</u>	ts. 41	2 10,5	+ Cent.	12,34,8	1,16,17,18, 20,26,	
						32	2,33, <u>3</u>	4.35,36	-Bsk	t. 12	op of	5+25		
<u>3!58</u>			<u> </u>				8g. m	<u>botom</u>				1 0		
4:00			<u> </u>			<i>#</i>	ok up	to Esq	. Bre	ck [ic.w/	Rig		
41,32	200		<u> </u>	20		1.0 0	C-/	-1 1				<u>.</u>		
<u>4:37</u>	200	ļ. 		2			uper	Flush						
4:40	200		5			O H	20 5	accr			1/ 1			
4:45	150		- 4	<i>b</i>	4		-/	ement (5 .			
5:07		ļ <u></u>						Plug	- [/a	ar P	ump +	Lines		
5:10	100			20	<u>6.</u>		act 1							
5:15	1900		<u>ن</u>	38	6	م ا		Pressur	<u>e</u>		· ·			
5:23	1900		1 3	7				own Rat H	1/2			<u></u>		
5:30			\				a 0	atton ;	_	Tal	b			
						- 1	T-1	1- 1	neu.	70	<u></u>			
		 	1				<i>20</i>	myp"	- , = -			RECEI	IVED	
		-					Thank	's Bal	bbu		KANSAS	CORPORAT	TON COMMISSION	
	_						1000	7				JUN 0 9	9 2006	
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,											СО	NSERVATIO		
												WICHITA	i, KS	
1024	4 NE Hiv	vay 61 •	P.O. B	ox 8613	• Prat	tt, KS 671	24-86	13 • (62	20) 67	2-12	01 • Fa	x (620)	672-5383	